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Choose the WRONG statement

from the following statements.

a) Electromagnetic force is the
force between charged

particles.

b) HKlectrostatic force can be

attractive or repulsive.

¢) . Nuclear force binds protons

-and neutrons in a nucleus.

d) Gravitational force is one of
the most strongest forces
among fundamental forces in

nature.

T'he correctness of equations can
be checked using the principle

of homo geneity;

~a) State the principle of

homogeneity.

b) Using this principle, check
whether the following
equation 1is dimensionally
correct. - -

1 |
— muv* = mgoh
2m mg

“where m 1s the mass of the

body, v is its velocity, g is the

acceleration due to gravity
and A is the height.

c) If percentage errors of

measurement in Vé}_ocity and
mass are 2% and 4%
respectively, what 1s the
| percentage error in kinetic

energy?
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(7a) /Using the given sraph, state a) ©mMIRIeHIT (@0a01OR
| . -‘ UL PIIHOOIIE @O
whether the following A . - g
5 HOTI@ENMM (R ITV@ICUMD (DRIGWD
Istatements are true or false. . omego ng)TT SO,
i) The force acting on a body D) oadleel AB agm 800D
along AB 1is constant. U@l
_ : @ONEQO|SIT enlelo
i1) The force acting on a body ' cdlomoen. '
along CD 1s zero. (2) | i1) (oadleei CD agam BOUIOTS)
. s - _ | aucrvadlem @
b)\})//State the law of MIEAISRSIT Gl
conservation of linear e - (2)
~ momentum. _ b) 1) @OEe o6 @ mo

Bt PR IS @001 86)18>.
} Find the region on the e IO@Y 3

o graph at which the body

1) (oadl@ @@ O GBI

, : alqu@fleg BYHNO
moves with constant | . quiiono@ldleanymm? (2)
momentum. BN ¢) oudeldd @olalenam (noadlay
I | . ) ”
@ Draw a momentum—time @m%%m@ @OHH-MVAW (HO01
' ' QORI B . (1)

7 ' graph for the given gmph. (1) éﬁ_

6.  The figure shows 2
body oif mass m

, _ %
o e the | anyrowoet aEEHIE
f’ . \ 5,96m10L1@1H6 1M ® .
three points on the | _ g %mmm'ie@ .
trajectory of this n ’f > | 4 3
body | womeiea 3 enila3ide
| i soen’ A, B, C.
i
|

a) Which is the tvpe of energy a) h 9WOEDIE D@1 HOLT DD

possessed DY this body at a " M@m al®] IIGEISN ]
height 27 . (1) | g deflaosm 0aR® ? - (1)
b) Prove that total mechanical | b) B, C agmdl enliazieegia ag)n D!
energy is conserved at B and B odEHem MWao RAIQOHEMT
C. _ | (2) | 6 @6 QB . (2)
¢) Abody of mass 5 kg is thrown &) 5?551;@00 roquEs 80 TS0 490

vertically up with a kinetic
energy of 490 d. Find the
‘height at which the kinetic
“energy of the body becomes
half of the original value.
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. a) State perpendicular . axis

theorem. Use this theorem to
find moment of inertig of a

ring about its diameter.

I'wo 1dentical concentric

rings each of mass M and
placed

radius K are

perpendicular to each other.

What is the moment of

imertia about an axis passing

¥

through the center of this

svstem?

i) .;;ﬁfR 11) 2MA

11 3MER? ) — MK
4

Derive the mathematical
relation between angular
momentum and torgue. State
the law of conservation of

angilar momertum.

so that ite radius reduces to
— of 1ts original value, its
7

anguiar velocity becomes
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~ravitational field, 1t should be

L,

g For a body to leave from earti's E 8, @ules NI E DY EMETTH @ orflorn

0119160 l0@m oM By AUMI@OIeg
nrojected with & minimum ] | |
* | | (GO EHIM cluzilo MILIL0

velocity.
™
| ENSOWNTIBEEMO.
2} i) Name the veiocily. (1) O | Ve
| a) 1) 07 (@GQM@BIM alDWIT
i) Derive an expression for ColODD 7 (1)
: Ei o ) |
this velocity. (23 ~.

;E
|
i
|
)
|
%
|

11} 507 {aJeaIMESIcT &0y W@
b) The moon does not have an OO0 Dl T, (2}

atmosphere arcund it? Give

b) sumo  2lJRie  @RODGIEHO
the reason. (2) | _ -
' 5D20TDTENE BHOOEMo D! (2)
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Substance E Young's modulus (IN/m*) |
al3odmoo aerdmy sacaueiny {N/m?*)
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Young's modull of three 3 ICORMATBEINS RS RO

1,5‘ "Ir" " . : {"E L ol ) - ot
materials are given in the above woen olgleaidd @mldleaimma.

table. |
| ) ey GAOALIRIMY  ag)(MOTT |
a) What do you mean by

NI"3AINSSH

: - S a7 @@ied  wemldmdlalo
Young's modulus? Write a - -

n ; ﬂ\{\;?"h‘ ¥ o Lzh
mathematical expression for AfYFLOL (2)

it ' (2)

b)) £)5)a00 60 210 B @MW 88
5y Select the material from the wieobone  asglewlc  @iom
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10. a) State and prove Befnouﬂi's

theorem.

; 10,
(@) |

a) ae‘m&@mo@m“ ltlete

(IO 186810

OO HNHWIo 6).21Q).

b} A steady flow of nonviscous

M
.
/
£

Figure '1

liquids are shown in figures
1 and 2. Which one of the
figures 1s INCORRECT?
Why? '

OR

a) What is the SI unit of

b)

KR-29

pressure? Derive  a

- mathematical expression for

excess pressure inside a

liquid drop.

‘What will happen to two soap

bubbles of different radii,
wnich are in contact with
each other? Why?

(2)

@)

(2)

b) ali@o 1 o 2 elo Hoemlaflden;

Figure 2

m® 8oy emoemallmyemy

(BOQUSOBNOM (HODOIW BYIH6)

@REM. ®MIBlSeM 2@ e

L

QR ® afl@mao6em’ MO ?

Q)OI B06NE?

ms)g;aéa"lro%

a) odgaleod SI wiemld agrmosn?

b)

630} (300U MBElwies oasdlenas

Q)OI BAdGo HIeMMEIM B8

DEMI® MRS 0 BJaTlds@lo6),0.

QNS QAU@IMI® EDOMES ETVOQ.|

B ) 1 8 B (D @OV ali®o

MOUdLOEDIR UM agyow

MoBQlee0? af)m6E0ME?

215

(4)

(2)

(4)

(2)



NI'dAI'ISSH

NI'3AISSH NI'JATISSH

NI'JAVISSH

11.

Heat energy / @oalo

]
The above graph represents
temperature versus heat for

water at 1 atm. pressure.

a) Match the feﬂawiﬁg“us_ing, |

the above graph. o ' (2)
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d) Vaporization
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Partially solid and liquid
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Partially liquid and vapour
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12. P-V diagram of a 2as ié shown 12.

1 the figure. In this figure AB ”
. represents 1sobarm process and

AD represents 1sothermal '

80} aRO®»ewloqm PV AWM
@oem ol@omad @t}gam’l%(lm’]ce@gﬁrb@f
DY 2li@edldd AB eageavosniodia;

el wwe AD Dageronodac

P .rocess.. (o.}@eﬁw@@cwgp mgg_ﬂgzﬂce@gmg
Volume / Q0@
' HSSLIVE.IN HSSLIVE.IN HSSLIVE.IN HSSLIVE.IN
@) Explain isobaric process and | HOEmIMNole  (aielwwe
1sothermal process. (2) | ©0gEMOOM O LMLGSJ@G?J;O N
b) Using the above graph, find B AYDOEM ag)y Qﬂm@r}ﬂﬁ@%ﬁi - (2)
1' e process 1n which the | b)

) Q@m CEIEEWECL) @v@sm En)S 1B

work done is maximum. Give (IAUIEDT Boleges®  agom

the reason. S - (2) mom’lm@ - MWaDOWEHO®
] SUETCIP-NG NN _ ' | (2)
13. Mention two conditions under 13

| 3. 22 Jod wnpms m@m%w@:s mgom |
- which the real ‘gases obe}r the 1 220 aoood cOiNE oens
1dea1 gas equatlon - (2)

021080 o flaflead. (2)
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14. a) Write the mathematical
expression for the period of

simple pendulum. Derive 1t.

b) The time period of a simplé
pendulum of length L as
measured 1n a lift descending

g

with the acceleration gm/ s
1S .....
o 3L o 3L
i — i1 —
28 V g
) 27 3L vy 27 2L
111 — 1v) 47, |—
V g ) \ 3g

15. The pitch of the siren of a fire

engine INCreases as 1{
coproacnes & o0y standaing at a
bus stop.

a) The phenomenon behind 1t,

1s due to .............

1) Doppler effect

1i) standing wave

111) Newton's law of cooling

1V) resonance

b) Obtain a general expression
for the apparent frequency of

the siren as heard by the boy.
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